

Vepstas Representation for $\zeta(s)$

J. López-Bonilla and V.M. Salazar Del Moral

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We consider the Riemann zeta function for positive integers, which allows realize a binomial inversion to obtain the coefficients in the corresponding Vepstas representation. We show that $\zeta'(-1)$ implies an identity involving harmonic numbers and the Glaisher-Kinkelin's constant.

Key words: Riemann zeta function - Harmonic numbers - Euler-Mascheroni's constant

INTRODUCTION

Vepstas [1] showed the following representation for the Riemann zeta function [2]:

$$\zeta(s) = \frac{s}{s-1} - \frac{1}{2} - s \sum_{k=0}^{\infty} (-1)^k \binom{s-1}{k} a_k, s \neq 1; \quad (1)$$

But we have the relation:

$$s \binom{s-1}{k} = (k+1) \binom{s}{k+1}, \quad (2)$$

Therefore:

$$\zeta(s) = \frac{s}{s-1} - \frac{1}{2} - \sum_{k=0}^{\infty} (-1)^k (k+1) \binom{s}{k+1} a_k, \quad (3)$$

Then:

$$\zeta'(s) = -\frac{1}{(s-1)^2} - \sum_{k=0}^{\infty} (-1)^k (k+1) \frac{d}{ds} \binom{s}{k+1} \cdot a_k. \quad (4)$$

We know the properties [2-4]:

$$\left[\frac{d}{ds} \binom{s}{k+1} \right]_{s=-1} = (-1)^k H_{k+1}, \zeta'(-1) = \frac{1}{12} - \ln A, \quad (5)$$

Involving harmonic numbers and the Glaisher-Kinkelin's constant $A = 1.2824\ 2712\ 91 \dots$, thus from (4) and (5):

$$\sum_{k=0}^{\infty} (k+1) a_k H_{k+1} = \ln A - \frac{1}{3}. \quad (6)$$

Similarly, (4) and the expressions [2, 4]:

$$\left[\frac{d}{ds} \binom{s}{k+1} \right]_{s=0} = \frac{(-1)^k}{k+1}, \zeta'(0) = -\ln \sqrt{2\pi}, \quad (7)$$

Imply the identity [1]:

$$\sum_{k=0}^{\infty} a_k = \ln \sqrt{2\pi} - 1. \quad (8)$$

Now we consider (1) for $s = n + 1, n \geq 1$, then:

$$\sum_{k=1}^n (-1)^k \binom{n}{k} a_k = \frac{1}{n+1} \left[\frac{n+2}{2n} - \zeta(n+1) \right] - \frac{1}{2} + \gamma_0, \quad (9)$$

Such that $\gamma_0 = 0.5772\ 1566\ 4901\ \dots$ is the Euler-Mascheroni's constant and $a_0 = \frac{1}{2} - \gamma_0$. The binomial inversion [3, 5, 6] of (9) is given by:

$$a_n = \frac{2n+1}{2(n+1)} - \gamma_0 + \sum_{k=1}^n (-1)^k \binom{n}{k} \left[\frac{1}{k} - \frac{\zeta(k+1)}{k+1} \right], \quad (10)$$

where it was applied the relation [7]:

$$\sum_{k=1}^n \binom{n}{k} \frac{(-1)^k}{k+1} = -\frac{n}{n+1}. \quad (11)$$

REFERENCES

1. Vepstas, L., 2004. A series representation for the Riemann zeta derived from the Gauss-Kuzmin-Wirsing operator, <http://www.linas.org/math/poch-zeta.pdf>
2. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London.
3. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
4. <https://mathworld.wolfram.com/RiemannZetaFunction.html>
5. Riordan, J., 1968. Combinatorial identities, John Wiley & Sons, New York.
6. Spivey, M.Z., 2019. The art of proving binomial identities, CRC Press, London.
7. Gessel, I.M., 2005. On Miki's identity for Bernoulli numbers, *J. Number Theory*, 110(1): 75-82.